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run_13069009 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Fri Mar 9 05:00:31 2012
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run_13069009 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Fri Mar 9 05:02:08 2012
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run_13069009 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Fri Mar 9 05:02:42 2012
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run_13069009 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Fri Mar 9 05:00:39 2012
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run_13069009 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Fri Mar 9 05:02:43 2012
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run_13069009 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Fri Mar 9 05:00:41 2012
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run_13069009 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Fri Mar 9 05:02:09 2012
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run_13069009 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Fri Mar 9 05:02:43 2012
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run_13069009 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB

Fri Mar 9 05:00:44 2012

ADC for FGT RDO=1ARM=3,APV=12 _§

3000 4000
raw ADC

1000 2000

ADC for FGT RDO=1ARM=3,APV=13 _§

o
3
[
o
a
<
10
S Sl
1000 2000 3000 4000
raw ADC
[ Apcfor Fet RDO=LARM=3APV-14 |
3 ot
3
[
o
2 |booliocses
<
1
K L 1 L
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=1,ARM=3,APV=15 |
5
3
[
)
a
<
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=1.ARM=3.APV=16 |
o
3 0 0 0
g
@0
o)
<
10
0 1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=3,APV=12_}

= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
of=—
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=3,APV=13 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=—--1-----
< =
3000 f=—r-q--- -
2500 fm— - - 4= -
2000 fm— - - {-----
=
1500 f=— v -4 - - -
=
1000 f=— - - {- - - -
=
500 fm— s - - -
= 8
) = e i
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=14 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— i .
2 =
3000 f=— Sfee-
=
2500 = Stees
=
2000 = SELE
=
1500 f=— SELE
1000 f=— SELE
=
500 f=— afhzas
=
oE— e
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=3,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 f=— - -
< =
3000 f=—---
2500 fm— - - -
2000 f=—- - -
=
1500 f=— - - -
1000 p=—- - -
=
=
500 fp=—- - -
=
ofE—---
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=16 }

- 4000 p— - - - - - -
e =
9 3500 f=—
< =
3000 fm=—
2500 [=—
=
2000 fm——
=
1500 f=—
=
1000 f=—
=
500 f—
=
of—
-
0

APV channel

. A E,.d Eod ES.d A

10

10°

10

10°

10°

10"

10°

10"

10°




run_13069009 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB
Fri Mar 9 05:02:11 2012
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run_13069009 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Fri Mar 9 05:02:44 2012
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run_13069009 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Fri Mar 9 05:00:48 2012
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run_13069009 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Fri Mar 9 05:02:12 2012

[ADC MPV for RDO=1ARM=3,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=3,APV=18 '}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=3,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=21 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13069009 FGT_RMS 1,Timebin=2,Disc=4,asmb=4AB
Fri Mar 9 05:02:46 2012
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run_13069009 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Fri Mar 9 05:00:50 2012

[ADC for FGT RDO=1,ARM=4,APV=0 }

ADC-ped

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=1 }

ADC-ped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=4APV=2 }

ADC-ped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=3 }

ADC-ped

i :
0 1000 2000 3000 4000
raw ADC

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=4,APV=0

= 4000 p—
] =
& =
Q EE e e AT ST PP EEE T R TR EEEEER T PEPEPEEE BEF FEPE | SEESEE EEE | EEEEE B | BT P ERE -
< =
QD |[==-=cccqoocscodrogescscococasiesohesdacococscassonsagsgocacagpagleacs|fioaddsq|ile]llioocadki|eocgsesaoqsiesoass F
=
A | ==occocy=ooo0odrodosoacasasasieoohoamsososoacasasasagadsosasdpoageasal|peaayeile]||ieeooqrf|eoepeeeoegleqeseses F
=
BILD [i===coc|oocscadrogescscococasiesohcapscacacscassossagsgacacagpagleacsfioacrsq|ile]l|ioocodqk i|eocr=em0oqeqemomes F
=
U ek L CEEEEETEFEEE FET PEEREEEPEEEEEEEREE PERPEREE SR BRI | EEESEE £ B | BRSO | B B P -
L TR PEPEEEE AP EEPPRPEEPTRE PR PRCEPPPPEEEPPREEETE PECERPRE SO EEEE | EEEEEE FEY | EEEEERE | PR P PP -
=
=
Ll = PR PP PP PR PETTE PRI PETTEEPPEEEEEPEEPEE FEEEPEEE TR PR | SEEEEE F B | EETEE O [ BT P R -
=
=
@|i==<c==jo=coccdpogescococssangeachospanacsssoosasoosgpisossagpageacs|ipeacieif|e]l[jzoe=drl|ezctooensqedossses F
= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=4,APV=2

4000

1
120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENRTERIAGNATGRAARNATGRARRIATENATRNATENAG]

[ ADC for FGT RDO=1,ARM=4,APV=3

4000

80

120
APV channel

3500

ADC-ped

3000
2500 f=
2000
1500
1000

500

0

[ ADC for FGT RDO=1,ARM=4,APV=4

APV channel

4000

3500

ADC-ped

sooollcocoooad )

3000
2500 scaclloscacoad .l
2000 scaclloscacoad 2
1500
1000 P . -
500

soocllzsonosed -

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13069009 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Fri Mar 9 05:02:12 2012
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run_13069009 FGT RMS 1,Timebin=2,Disc=1,asmb=1CD
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run_13069009 FGT_ ADC 1,Timebin=2,Disc=1,asmb=1CD
Fri Mar 9 05:01:12 2012
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run_13069009 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1CD
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run_13069009 FGT RMS 1,Timebin=2,Disc=1,asmb=1CD
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run_13069009 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
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run_13069009 FGT_ ADC 1,Timebin=2,Disc=2,asmb=2BC

Fri Mar 9 05:01:17 2012
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run_13069009 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Fri Mar 9 05:01:21 2012
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run_13069009 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
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run_13069009 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Fri Mar 9 05:01:24 2012
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run_13069009 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
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